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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? {ﬁﬁm ¥ f5g yeR @t ﬁﬂ?ﬂ ﬁ?ﬁ %?
1. Naturalist/ Wﬁaﬁﬁ

2. Spatial/ EJIIEED

3. Interpersonal/ Sfddafaad

4. Bodily-kinesthetic/ SRCARIIN G m—m
Correct Answer :-

« Spatial/ B

2) is the method that studies growth by observing and measuring the same individual for a variable period, during his/her growth /
Tg faftr g ormd f<ht aaferr ) SOt of g & SR, U uivad=Rita srafl & fore W aafd &1 Yerur 3R AMG &va
BT e T Tl 1

1. Mixed Method/ fof3¥d fafer

2. Longitudinal Growth/ &Iﬂ%ﬁq@

3. Cross Sectional Growth/ 1 3‘l§1ﬂ7ﬂq fawm
4. Extended Method/ faia fafey

Correct Answer :-

« Longitudinal Growth/ G{fﬁiﬁq@

3) Success is most crucial in school performance because it helps the child / ﬁ@l’l?l'q & 'FIT:."Q&I ﬁ, ABAdT 99 w % wife m T
o o & weg fedt

1. show his knowledge over other students / 3{=0 BE & THE 399 JH BT et

2. passing the examination / TRI&T U @Al

3. winning Prize / QRIHR St

4, feel more Confident about learning / I & ey H 3fde Wﬁm Hegd HAm
Correct Answer :-

« feel more Confident about learning / {TERTH & Hael & S{fF STATIYN He gl PRAT

4) Infants at an early stage are highly ./ uRYE Wﬁﬁr{[ AR® 'MW g
1. Extravert / a%@@ﬁ

2. Unselfish /ﬁﬁ'ﬁf

3. Egocentric /W

4. Altruistic / WRITHRY

Correct Answer :-

« Egocentric / Wdh{=d

5) Conventionally, how many types of needs are explained in Maslow’s theory? | URUR® U, Al  Rigid # fan yor a1
TaRaFHaTsi H afofd foar war g2

1.2
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2.6

3.5

4.3

Correct Answer :-

e 5

6) An extrovert child would:/ T 'dl%"i’&ﬂ T T ET'TT:

1. Tend to think things through inside your head./ 30 ftaive Aftass 4 fid &t Wﬁl
2. rather just observe./ Afch b fdteror |

3. Think more and talk less./3(f e 3R aTadiad FH HR

4, Like to be in a fast-paced environment./?ﬁa GIRIERUE:] g WG oy

Correct Answer :-

« Like to be in a fast-paced environment./?ﬁa TTATaRol § Y81 Ui S

7) The term personality has been derived from / “SfRTed” (THTICY) eg & e | ferar man @:
1. None of the above Wﬁﬁﬁqﬁ

2. Grcek/q\:l'l_'ﬁ
3. Latin / QfeH

4. German / ST

Correct Answer :-

+ Latin/ Qe

8) The assessment results from personality based projective tests are . afaTe smenfa \?vlﬂ'q'F-ﬁ uﬁ&wﬁ@q@m% ufeomy
gl

1. Foolproof/ IXc

2. Controversial/ fdagRUg
3. Futile / 37

4. Objective / TKIAT

Correct Answer :-

« Controversial/ faarerTg

9) The child worries almost everyday about getting hurt. This is because of ./ TR B TG WA F TR & aerr ufafes forar 'Esﬁﬂ%l
THGT BRI |

1. Autism / I (3ATfeom)

2. Attention Deficit Hyperactivity Disorder / STIHIG Td sfaaforaar famr
3. Anxiety Disorder /ﬁ?ﬂﬁw

4. Learning Disability / S{fTTH &

Correct Answer :-

+ Anxiety Disorder / e fapr

10) Which of the following is not an individual difference likely to affect learning? / faff@add e TP HAfRATT G-I?R'T'ﬁ&% il
HUTaa: AT B qUTRId Y WP 82

1. Body mass / TRR GHHH

2. Intelligence /m

3. Experience / 3[JHd
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4. Motivation / 3{f¥0RoT

Correct Answer :-

. Bodymass/-‘lé;{w

11) Which of the following is a personality test created by Cattell? | Frafatea B A1 PHea KIRT TR o AT sAfdTa e %?
1. Sentence Completion Test / amqquﬁem

2. NEO-FFI / THS31I-Uh U 315
3. Sixteen Personality Factors Questionnaire / S1¢1g Hfdid HRES TGt ESESHE] Rt thaed H%QFF!T{R’)

4. Locus of Control / FIT=0T &1 f&HT (@i g 3iTth deia)

Correct Answer :-

« Sixteen Personality Factors Questionnaire / Tieg Al SR weTaa Readm Tferct Shaed aaWVTQT)

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is . Wmﬁ&ﬂ ﬁ, frftaf@ s
yfasy #Y SuafRrl @1 wuraanai @1 w1 ot ergar 2l

1. a probability/ T JHTGT
2. a certainty/ T {3
3. a question/ Th YUY

4, an assumption/ U YRUIT

Correct Answer :-

e a probability/@ﬁm

13) Moving from examples to generalization is: / ISTERUN | AHTIIHRUT BT 3% aa‘—n%
1. Correlation / g-Td¢

2. Inductive / 3FTHATHD
3. Incidental /C’rﬂm
4. Deductive / FITHFTGTS

Correct Answer :-

o Inductive / SRTHATHSD

14) Bandura believed in Reciprocal Determinism. This means that: /agvuﬂ'@rhﬁﬁmma | ﬁ%rm B A EXEd) 3 %:
1. The environment and one’s behaviour cause each other. / GRART 3R foraf b1 dgiR W—W P PR AT %I

2. One’s environment causes one’s behaviour. / Tl T q&?m, fodt & AdgiR P PRI %I

3. One’s environment remains unaffected by one’s behaviour. / ot s dgRR 3 Tt o1 afawr smvifaq Xgdl % |

4, One’s behaviour is independent of one’s environment. / forddt &1 IdER, fareft & ufedw ¥ w@dd % |

Correct Answer :-

« The environment and one’s behaviour cause each other. / TRIRT 3R fHt &1 dgRR W—W & HROT AT %I

15) Memory is measured by the method of/?ﬂﬁf oI A A A A s @:

1. Reproduction (recall) / GTodTGT Rpia arl arg =)
2. Interview / HIETPR

3. Observation / 3l

4. Experimentation / TN

Correct Answer :-

« Reproduction (recall) / Q¥ dTeT (ﬂﬁ\rﬂ g aE DA
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16) What is the term used to describe the negative attitudes that people have towards an individual based on their sex? / TPRIHD Eica

F1 90 B & fore fora ue o1 SuaT fosan sran B, o & g9 foir & snur wr fosft safea & ferg e 82
1. Patriarchy / fUGERIT

2. Gender roles / STIfaiTd YTy

3. Sexism / TaRTHG

4. Socialization / FHTSHIHRO]

Correct Answer :-

« Sexism/ ﬁ“mﬂ_&'

17) What is the term that Piaget used to describe imitation carried out with parts of the body that one cannot see? /WWW%W

ITGIT TS A TR & 3 R F 1Y B T e 31 quid w1 F o [ 8, O 9 dm Tt awar g2
1. Invisible imitation / 3EXT Tl

2. Spatial imitation / R Tael

3. Visible imitation / GRH1T Tdd

4. Model imitation / HIST Tdd

Correct Answer :-

« Invisible imitation / €Y

18) One’s heredity is determined at the time of . JAG s il anaaﬁmn_%mmﬁafﬁaaﬂm?ﬁ%l
1. Maturity /uﬁw

2. Conception / MR

3. Growth / ICER:

4. Birth / S[H

Correct Answer :-

« Conception / mifeRor

19) Counsellinginvolves _ / e A A W g gl

1. consultation and interchange of opinions between counsellor and the individual / 1:ITl'l:l'th'lT‘lT 3R e & s fomry &1 HlgI-Uald 3R TRTARE
2. advice from counsellor to the individual only / Pad fdd & WA RGIR Gl

3. problem sharing by the individual with the counselor only / Fad IRTHRIGIAT & AT SHfad GRT THIT AT HRAT

4, schools identifying issues with children with needs / SRS EIREE KRS 'ﬂﬁ P UG DA a1l fa=ed

Correct Answer :-

20) Vocational training to persons with locomotor disability is more related to domain. / @@ e feaivar ara wfeaal &1
wrreror ST eiftre WERa g1

1. cognitive / TTFIIED
2. none of these / 37{3[ g ﬁs‘ '_'rEﬁ

3. affective / THTA!

4, psychomotor / RIEGALIGH
Correct Answer :-

» psychomotor / Wﬁ[ﬂ

21) Social learning theory was proposed by: | aTAToTE ST RIgid 9% gIRT YRaTTad far 41 4T
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1. Freud / ThIIS

2. Bandura / g1
3. Skinner / f&FR
4. Pavlov / UTd@d

Correct Answer :-

+ Bandura / ST

22) Socially immature students are known as students. / ATHTIOTR U ¥ URUS S H1 mﬁ%wﬁmmél
1. Dependent / Rk

2. Alienated / 3CTI-YTT

3. Phantom / SMTHT

4. Social / ARSI

Correct Answer :-

« Dependent/ LIy

23) Social knowledge is obtained through ____ from other people. / 31=0 ikl _ 4 & HIAH | TS BIG RS forar wiran %I
1. Feedback / ufafean (tﬁ?,%ﬁ)

2. Discouragement / W

3. Encouragement / ‘jl?\[ﬂg:f

4. Logic /H* (ﬂm

Correct Answer :-

« Feedback / TfAfshaT (Wisad)

24) According to Gardner, spiritual intelligence is / MER & YR, reaTfeie S

1. the ability to perform transformations on one’s initial perceptions / el ot URfe yRomsf & uRact= @A ® e

2. the ability to contemplate big questions about the meaning of life / Siad & J&%4 & Hat T Sicd THISH W [ddR 6 o &Hdl

3. the ability to make distinctions in the natural world / m gﬁm H faNg B I &

4, the knowledge of one’s own strengths, weaknesses, desires and intelligence / 3Tt g B W, mﬁﬁﬁ?ﬁ, W\?h 3R Ej@ﬂ?ﬂﬁ M

Correct Answer :-

« the ability to contemplate big questions about the meaning of life /S & 339 & Hey § Sfed sl IR fdaR &= o &fdr

25) Formative assessment is: / TAAITH® YedTd &:
1. A process that does not involve value judgement / Wmmﬁ HTGRI YR (%FC{\GI@E) Q]Tﬁﬁﬂ'ﬁﬁ%l

2. Performed by evaluating student learning by comparing with a benchmark / W@?W?‘IWWW ammésq@'mmﬁmﬁﬁﬁo‘m
G|

3. Used for rating the learner through high-point valuation / 3&-®Ifc i & T g Ramff ((’Fﬁ) o1 dgar Fufa F & forg Sudn fasar sar
2l

4. Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner / s & ﬁ‘TQ 3T} WW%W&E ﬁZT&‘ITfo
(@R) & 701 SR G B1 O 7 e G el dral g |

Correct Answer :-

« A process that does not involve value judgement /Wmﬁmﬁ 3exf R (%?q\mﬁa B TEDI%I

26) The role of the teacher in a progressive education is that of a / T Wifa=iTa fRiem & Riers ot ue ";[ﬁ-lﬂ &

1. Disciplinarian / 3D
2. Instructor / TTT&®
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3. Guide / HI[GRIP
4. Lesson planner / U138 ASHIBR

Correct Answer :-

o Guide / AFGR[DH

27) According to research, peer-assessment is valuable because / MY H IR, ﬂ?ﬁ-w P GIEIG] %mﬂ%
1. it encourages competition among the students / g m%ﬁauﬁmﬁaﬁmﬁamél

2. pupils may accept feedback from one another on their work / 9T 374 HH R TH ?(R:I:’\f 3 ufdfopar U FR Gdhd %I
3, students know their rank in the class /@'H’W&ﬂff mwﬁlﬁa%l

4, it reduces workload for teachers to assess the students / 9§ BEH IL?HHT'T & ﬁTQ el & HRf Eﬁ':ﬂ B HH Bl %I

Correct Answer :-

« pupils may accept feedback from one another on their work / Q1 30 B R TH §FI§ I ylafehar U &R gadd %I

28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive behaviors including aggressiveness,
destruction of properties and non-compliance in the classroom is?

/ A, Tergd, W, 19 TE 3 (2004) & AR, &M # SAThIDT, TUIe! BT 31T 3R IR-qure Iied faeasrt
GER B HH HIA BT TP THTE TreA =g 82

1. Time —out (TO) from positive reinforcement / PRIHD ﬁ?ﬁﬁm 3 TZH-313< (<13l
2. Time —out (TO) in the classroom / D& H TTZH-33T (E13M)

3. Corporal punishment / RS <8

4. Detention / FRIY

Correct Answer :-

« Time —out (TO) from positive reinforcement / DRIHD ﬁ?ﬁﬁw J TI3H-313C (<13

29) sometimes, children are dissimilar to both the parents. This is because of the Law of i wft-aft aé, qrar-far 'cﬁ:ﬁ J e 'Eﬂa
T__ FPrm v erudarel

1. Segregation / JYIHU]
2. Variation / fafaear
3. Dominance / UYcd
4. Regression / T

Correct Answer :-

« Variation / fafaeran

30) In Sternberg’s theory of intelligence, which of the following steps involve finding a solution to the problem? / W%m%mﬁ,
Frofefe & 3 fooa avor & Toar &1 aare g S i g

1. Application / G-ITJITﬁT[ WSH)
2. Mapping/ﬂﬁﬁﬂm (ﬁﬁﬂ)

3. Encoding / Y d (FTDITST)

4, Response /Dﬁfﬁo_m (ﬁ?q\l%\‘:l)

Correct Answer :-

. Response / Ufaferar (Rai=)

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:

I grew up in a spot-- house, but apparently cleanli-- isn’t an inherited trait.
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—-

. --ting ... --ship
2. —-ted ... -ing
3. --able ... --hood

4. --less ... --ness

Correct Answer :-

s --less...--ness

2) Fill in the blanks with appropriate determiners to complete the given sentence:
What did youbuy? _ !Icould notfind ____ I wanted.

1. Anything, none

2. Nothing, anything

3. Any, nothing

4. Something, something

Correct Answer :-

« Nothing, anything

3) Fillin the blank with the correct option in the given sentence:

A person whose thyroid gland secretes deficiently is suffering from -- thyroid condition.
1. hyper

2. hypo

3. sub

4. mal

Correct Answer :-

4) Choose an appropriate modal for the given sentence:

The baby fell off the cot. You _______ have been watching the baby.
1. can

2. might

3. would

4. should

Correct Answer :-

« should

5) Choose the most suitable pronoun for the given sentence:

I am going to the theatre with my friends. Would you like to join ?
1. me

2. we

3.us

4.1

Correct Answer :-

6) Choose the appropriate tense to fill in the blank in the given sentence:

They in that house for seven years.
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1. was living
2. have been living
3. has been living

4. has lived

Correct Answer :-

« have been living

7) Choose the appropriate tense to fill in the blank in the given sentence:
We cannot organize the show if it

1. will rains

2. rains

3. rained

4. had rained

Correct Answer :-

« rains

8) Choose the appropriate conjunction for the given sentence.

The bus was delayed the traffic.

1. resulting
2. due to
3. because

4. before

Correct Answer :-

e dueto

9) Choose the appropriate antonym for the highlighted word in the given sentence.

The resilience of certain plants allows them to thrive in the desert.
1. grow

2. perish

3. flourish

4. blossom

Correct Answer :-

* perish

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
Had he seen you at the party?

1. Was he seen by you at the party?

2. Were you being seen by him at the party?

3. Were you seen by him at the party?

4. Was you seen by him at the party?

Correct Answer :-

« Were you seen by him at the party?

11) Choose the appropriate synonym for the highlighted word in the given sentence.
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Changes in modern lifestyle means that for many families, it is no longer eating together, but shopping that bonds them as a family, at least at the
weekends.

1. separates
2. enslaves
3. links

4. wires

Correct Answer :-

¢ links

12) Choose the appropriate prepositions for the given sentence:

___ pregnancy, extra supplements are needed _____ the growth _____ the fetus.
1. In..for..in

2. At ...for ...around

3. During ... for ... of

4. For...to ...in

Correct Answer :-

¢ During ... for ... of

13) Choose the option that best explains the highlighted expression:
The misappropriation of certain funds by our manager had come to light.
1. to be caught by the police

2. to be remanded

3. to become known to people

4. to be detained under custody

Correct Answer :-

« to become known to people

14) Choose the option that substitutes the given phrase appropriately.
A part of a continuing story on television is a/an .

1. serial

2. segment

3. episode

4, soap

Correct Answer :-

15) Choose appropriate article for the given sentence:
children like pastries of all flavors.

LA

2. An

3. No article

4. The

Correct Answer :-

« No article

16) Choose appropriate articles for the given sentence:

For ages, one of ___ longest cultivated plant foods, beans have been ___ part of most cuisines.
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l.the..a
2. the ... the
3. a... no article required

4. no article required ... a

Correct Answer :-

o the..a

17) Which of the following options best combines the given sentences?

He is rich. He is not happy.

1. In spite of being poor, he is happy.
2. Though he is rich, he is not unhappy.
3. Although he is not poor, he is happy.

4. He is not rich, but is not unhappy.

Correct Answer :-

« In spite of being poor, he is happy.

18) Read the sentence carefully and choose the option that has an error in it:

Antibiotics works when they are administered early.
1. when they are

2. administered early.

3. Antibiotics

4. works

Correct Answer :-

« works

19) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

According to the author, we usually concentrate on:
1. Much needed things

2. Daydreaming

3. Random things

4. What we are expected to pay attention to

Correct Answer :-

« Much needed things

20) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
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selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

In the passage attending means?
1. Waiting

2. Attending classes

3. Paying attention

4. Observing

Correct Answer :-

« Paying attention

21) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

The title for this passage is:

1. How Hunger Distracts Attention

2. The Relationship between Perception and Attention
3. Perception

4, Daydreaming

Correct Answer :-

« The Relationship between Perception and Attention

22) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

Which statement expresses the main idea of the paragraph?

1. Unfortunately, when students daydream during lectures, nothing will enter their brains.

2. Perception is strongly influenced by attention, which is usually focused on needed things.
3. You’ll not notice any error if you are concentrating on the content.

4, If you are hungry, you’ll focus on eating.

Correct Answer :-

« Perception is strongly influenced by attention, which is usually focused on needed things.

23) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
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knowing how to spell “"dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your /ot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The main idea of the passage is expressedinthe _______.
1. first line

2. last line

3. nowhere

4. in the middle of the passage

Correct Answer :-

« first line

24) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your /#ot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The term hot dogswas firstusedby ___ .
1. baseball fans

2. Harry Stevens

3. the cartoonist

4. the vendor

Correct Answer :-

« the cartoonist

25) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogs'” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

pr)

Choose the option nearest in ing to word d

1. Seller

2. Buyer

3. Purchaser

4, Manufacturer

Correct Answer :-

« Seller

26) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

What is the tone of the passage?
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1. Sarcastic
2. Detached
3. Light hearted
4, Nostalgic

Correct Answer :-

» Light hearted

27) Choose the right tag:

You are a basket ball player, ?
1. do you

2. are you

3. aren't you

4. were you

Correct Answer :-

« aren't you

28) Choosc the right tag:

We wanted to go to the museum early,  ?
1. didn’t we

2. weren’t we

3. should we

4. isn'tit

Correct Answer :-

o didn't we

29) Choose the correct option to indicate the indirect speech of the sentence:

The teacher said to the students, ‘Please wait here till I return.’

1. The teacher said to the students to wait there till she returned.

2. The teacher requested the students to wait there till she returned.

3. The teacher requested the students to wait there till she will return.
4. The teacher said that the students should wait there till she returned.
Correct Answer :-

o The teacher requested the students to wait there till she returned.

30) Fillin the blank with the correct option to complete the sentence.
His command

1. has promptly obeyed

2. was promptly obeyed

3. promptly obeyed

4. is promptly obey

Correct Answer :-

« was promptly obeyed

Topic:- General Sanskrit(L2GS)
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1) CANCELLED

faatet# 316 quifadieras -
| THTHAT+T+E

| THGHITH T+ +3T+5T+3T+3]
S++IT+A+3T+H
3.

fasT+om+ata
4.

Correct Answer :-

| TGS+ T+ 3T+

2)

TR=de UfScar ueaTey %olaqagcdi T -

Tyr At | A e 3fd A fdedd | 3 Iedl: uren: died | ad
U A | T o Yoo T faegd | T UHcdl JHROT T UIAT HTeT |
EAT: gcd: FHIY fassfd | Ucgg Mure: gfdar a1 &N &Iffy | urd: |
T Gdl IMNclgeteprail 8ad: | INY: e 0T G ¢cdl GIaolel geciel ‘g'\DT%T
aIfyr | 9UH acq: Tded Uafd geard g3 a1 qifeer amarer: | Aigiesieledy
g: acd: gel: 9: Oefd |

Mg Wicar g Jonf, oamh, Faeen, 56 T @efed |
AL & faatfed @ | defa1 & adsT ged eafd | &fRed snd=aerd, afer
fafd | SEIAYEAR ddeild Uedd | ddel Adeiidsl gd dF9edd | Ede
add 9fg: | &l fe, T, wAdeid, gd, T HJSINH IUIFdAl TEIfA
led | difd e 3ugeded | difd fqar sfisll T@HT o eafd |

ME, M, °gd, afe, &R, T T=ereafafd gearas |

aﬁag@*:aﬂﬁ?
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e

4, ©
Correct Answer :-

 Had

<

3)
URTae Ufacar T2y ‘\g&d:l)cdv'; TRAd -

Tyr At | I g9 3fd A fdedd | 3 gaR: gren: dfed | gd
IS Tdd | T o Yoo T faehd | ¥ UPcdl PRI T UIAT Hredy |
3EAT: doq: gAY fassfd | gcag amurer: gfdar o &fR iy | uid: 9
T gdl INelgeeprel sfad: | ANY: el 0T T el GlaT0l EEclel gaed

AN N

QI | v aod: Tdod TUafd geard 99 37 aIfeer auTer: | aalgelsled]

q: o Yol I IEEIGH

aa: Wiear gRarfe qonfel, fuames, Sorsrsta, I8 I Wigfed | d:
AYY &M ARTed T | OefaT & a9 g e7afd | &iRe 3id=deid, afer
safd | ST daelld IeId | dtdel Adelidel gd FFIedd | gd
add dig: | &g afe, deh, oAdelld, gd, T HJSIONH 3l aedfa
Aled | Al #isled 39geded | dlfel O siiee @A o safd |

MY, M, gdd, &fd, &Y, T ToaercafAfd yeards |

acd dAded T saafa ?
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IR afScdl TeEd YgdHca AT -
ool o #ARa: o Sfiafd | 3o J PRI TRHA P CIHE
PRUMGTCA | PYh: 3l &F aeard ofesA &ifd | @
TAYGSCATEI ool JTTAIURY ollehld 3BRHA. 3cdicald | &: duEdrd
TREITAT odNoT T TIHRRT hATa |

AT F¥h: 3ol JAMD | TF F: TN T Haafd | 3es
A: HehhC, &A1, del delidal T Tleldid | Told Fehche: A AT Hh
T FPRAFT | ARAT: IF 3ol AReY: W | O] TFH dhgead T
gIel galfd | Jofiaef &1 gef HYd: T AT T Hd: | T H: Herded
g Slodel 3T grerafd |

PP: Uledel FE Paelugd, ARhedars, el Ioaior o qeafd |
heellds  SGT-lH  deellthel T &aF  3Ugsdd | AlRGhehe Sdd,
AReIdel R T 3UFedd | TPl el 3UFedd | AT JourioT
caqed ElIon Hiegdade e HieT T uRid | Ud ven: FhrRIUT Halle]

AT el 3URUTT |

Puh: TAY o o qeafad ?

| PEIgE
FEaTaIed
ATRRergeT

3. i

2.

CCIGES
4, N ¢

Correct Answer :-
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TR=dE UTScar UeTed Q:I)&s\dgcdj\ T -

Tor A | A g 3fd AR f9ed | 3 gcar: uen dfed | ogd

S Idd | Th o UTo T faegd | T UPpcdl HHRUT T UIAT HredT |
FEAT: ged: FAY fasefd | Ucdg Murer: gfaar o &R aiffyr | uia: a
T 2@l IMNelgeTdrell sTad: | ANT: IR 0T G dl GaTOIT gl gIed
AT | gaH acq: Tded Rafa ueard g a1 ifder anurer: | aMglgssiecy

}T:aafr:ga:w:ﬁaﬁl

e shear gRarfa qonfe, fuars, sradenta, g6 T @efed | ar:
AL &R fARfed @ | o1 & adsT ged o7afd | &fRET snca=a=rd, afer

fafd | SfIHUHd ddelld IAd | dtdel aAdeiide gd HFedd | gd

add qfg: | &g afe, T, =Aaeild, gd, T HSIUNH 3ugadia aecf

afea laﬁaﬁmdluquﬂrd‘laﬁﬁ?ﬁmﬁmﬂmﬁl

MAT, M, gd, e, &R, T Tsaeareafafd veards |

I &fa ger: diea ?

Correct Answer :-

| FER:

¥ TPRET guifcafcaTen=ia -

Correct Answer :-
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7)

eellehl Gfecar srenfafesesd ueered Ygaccl YT -

IREHAA Siafd Sidfed dga: § J siaid |
hTehIsTT foh o hed Tedl TAIeTqIUT ||

alelel dedl fAfeRied A2 dsied aleaisied RY: gfaears |

farwor <freres amrqd\ard‘mgod TAARET Aledd ||

gfereare, Tdresn: RY: «A1ed |

2. el
tf%a'zi@?zr:
3.
GBI
4, 2

Correct Answer :-

e d:
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IRTBE TfScdr TeaAed YA I -
Jeotel faelr Aeq: o Sfiafd | e J PFYREd URAA gIgiecHe
PROMGUCIT | Puh: 3l & aeard afesd wAfd | @
ATAIGSCATEI hoCle] AT Wllehd BRHA 3cdicAld | §: duEdd
THETIAT FoalNoT T TFRR HAUMT |

HAGIT: FYeh: 3col gdid | dF & %T:raﬂ?lﬁg‘gr: g [Haafa | 3ea
H: hehhc, A, del Telidal T Tleldld | Tl Pehche: s AT Hh
T FPRAMT | ARAT: IF 3ol aReY: W | O] G dhgead T
g7t galfd | Seliael &1 gef h¥d: d¢T e I Hed: | Td &: hesde
e Sloqel 31T grerafd |

Fuh: Uledel T HaeluGy, ATRhelger®, Yorgal gsumor I gefafd |
heeldd HISATH  Heelithel T CdI  30gsdd | AlRhelhel SdM,
AReIde R T 3UFeTd | Prhel degel 3UFedd | AT JourioT
daged Elun Hieadadare FfeT T aRid | Ud H¥h: FEHROT T

AT FeATel 3TRUTT |

U &h: SIeTATa ?

Correct Answer :-

haehc:

« O Lol

Y e + AV T UG AT IRAREA

Correct Answer :-
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eellehl gfdcar srenfafdseed vy gl FIaad -

TUB(T 31TITAT Gl el TRYAT Gl |
AT el ST8Ted o TIETC dTeFaTcle] ||
3T GolaT eIl ATTEIIT: T Ue |
TTaehl ANEHIT HEINIAATSI ||

Tad 3Tetelr gagaAfT gusfd |

1. -

TIRm:

2. Lol

, a0

4, ~

Correct Answer :-

RCLE

11) )
9ollehl UTScar TNATGSeET UeaAEy TGHCH I -
TRETd 3TIT=AT ST I TREAT &I |
aTdT goerd sleTcd & Tt et ||
376T GoTeT I AT T ¢ |
qTeeh! g HEINIBATSA ||
TY: HSIIAASTT |

1. v .

aoleT:

2. 2

3. :

4, fQ\]T:

Correct Answer :-
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12)

TRTSe afScar T YGHc JaId -
ool el #ATd: o Sfidfd | 3feed  FIRET TRHAT FIGSeHEm
PROMGCUCTd | Puh: 3l & aeard ofesd &Afd | @
HTAIGSCAEI O] JTTAIURY Wb IERHA 3caiGdid | &: duedid
THTIAAT FodNT T FFhr il |

AT HYh: 3¢al IO | TF & TGN Te f@qafd | 3l
T: Hehehc, &dled, de] Jeligal T Ulerdfd | Telld hehehe: U U Fh
I PRI | ARAT: dF 3ol aRe: WA | O] aFd dehgeed T
gIel Galld | Jeflaql &3 gel HYd: IET e T HI: | T A: heeaed
e Slodel 31T rerafd |

PYD: Ulcde] FE heoldicd, ARederd, qIrdgar qoaror o q&dafd |
heeTd  sfoTl1e] deelithel T A 3UYSAd | ATRGBeIhe M,
ARG R T 3uFedd | el dFel 3UIedd | AT gogrioy
caqed Elon Hicadadare #AEd T a&fid | vd H¥eh: FEhRIOT Halle]
AT ST 3T |

&h: STelle] 3URUTT ?

h&HhI:
4. 2

Correct Answer :-

hYch:

<

13)
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TR=ae IfScar UesTEd ‘\g&s‘\d:j,cdi T -

TyT 3t | I O 3fd AeR faggd | 3 Ican: U dfed | gd
S ddd | Ueh ofFd Yo I fdcad | 5T UPpcdT RO I GLAT Fredy |
EAT: dcq: gAY fassfd | ucag Murer: gfaar I &Y Qiffyr | ured: @
T gdl IMeEaAehrell sfad: | IMNT: dTAeT 0T U godl GfaToled g&del giel
affyr | gud gca: T-d Refa gearg oo o1 SIfder marer: | aigaeded]

anﬁngﬁ:w:ﬁaﬁl

e dear gRarfer gonf, [uarh, woradent, 56 7 wefed |
A &I fARfed T | 9ofa1 &fX §dw g2 e7afd | &fRET 3MAsd=Id. afer
fafd | SfaRUAId ddelld WId | dedd Adellded gd TFIead | gdd
add 9fs: | &l afe, T, waeid, gd, I HJSIOH IUIFdl TEif

iea | difa e 5qgcqo-d\ | darfad foar e AT o safa |

MAT, M, gd, afe, &}, T Tsaereafafd veards |

&ToT &fer &el stafa ?
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ool afScar renfAfeted ueaed YgHAcR FIad -

TG 3TTIeTaAT el Ief IREAT Eeie |
aqTT goeFd ST o TGTd ITFaTc ||
3181 GolaTHEdITc] AT T Ue |
qTarehl SlgEdlel HeI TS ||

GO 31T FATE: |

Correct Answer :-

dcuey:

o)

TGT 3TIAAT GI8 ol IYEAT &l |
ITaT Goerc STeTcd o TGl aTeFaTea ||
3161 Golel e aalic] HTg Tl Ug U, |
qTaehl elgEaleT HeIRIAATSad ||

GoTTEaNC, Tld 1afd |

Correct Answer :-
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A Sliafd shafed sga: @ q Siiafd |

hTehIsTd foh o hed Toal FIeIGIo ||

eellehl afScdr IENfATESCET UReEd UG’ Faad -

&leleT Jodl fATRRIEd At sltered Al-alsfed RY: gfarear |

{81907 fMerdd T A-Id FedlTded TARTET aAlead ||

MHROTH' UG TIIUGTAGH |

[EEALIC

4

Correct Answer :-

eaToTe

Correct Answer :-

 JHedHeT

® o 5caey [ugaF AT 56 -
 foetar: S e aq

| feretar: S aear @
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foretam: Sem: I aq
3.
4 IGEIGIE GFHT:QIfiﬁqF[ dd

Correct Answer :-

 ToIeTaT: ST I &

9ol gfdcar srenfafésesa yeaey %ggajcdi oI -

HUETTT 311371 gl Faf U gaie |
TelT el OTeH o TGl aTeraTela ||
31T Gole e Ealic] HTgTieT: Ue U |
TR S FE AT |

R’ UGET 3T faIser: |

20)
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TR afdcar uesTeg Qgﬁdgcdi A -

Tor At | 9 O 3fd A fdedd | 3 IcdR: Uren: dfed | gd
S add | Th o YT I faedd | 3 YhcdT 3RUT T UTAT Fredl |
HEAT: ged: GHY fassfd | Uedg Murer: gfaar @ &} aifdy | uia: 9
T Gdl INalgeachrol ad: | aNY: d#Hel 0T G ¢cal GI&Tolel §edel g;f%i

ST | T g Tded Tafd gRard 9: a1 gIfder angrel: | Malgeleded?
T ged: Yol I EEIGHE

e Wicar gt qonfe, oA, sdween, 56 g @efed |
AYY & fAfed o | Oefa1 & adwr ged efafd | &fRE 3id=aeid, afer
gafd | SRIAUAT Adelld WId | dcdel Adellded gd @Fhedd | gdod
add gg: | &fRIg, afd, T, Ad=ild, gd, T HAJSIONH 3gFdiil axf=
Aled | Al eslelid 39geded | dlfel 9l &iielel @A o siafd |
ML, A, gd, &Y, &, o ysaereafata yeards |

Wz;ﬁﬁﬁﬁ?

Correct Answer :-

_ EHEY

21)
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eelehl afScdm IENfATESCET UReAEd Y’ FIA -

ITEA SAafd Siiafed Jga: Hgsﬁaﬁrl

PTRIsTT foh o & Tedl T ||

alelel Jedt fAfeRRed A2 Stetred aAearsfed RY: gfarears |

faeor efrerere a'dlo-lald\{'lo'd\lﬁlgvij TAATET AT ||

RY geeg faegueiAcs |

Correct Answer :-

|

~

? srellecdy fdehedy & fashed: 31erg: ?
) [GEIGET:]
, fde]

GIGIGE

3.
Correct Answer :-

BGICIGE

4.

23)
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ol ufscar srenfaféseer ueey %;&ajcdi HAd -

IReA Sliafd shafed sga: @ q Siafd |
hThIsTY foh o e Tedl T qLOTH ||

alelel deat fAfaRed A2 dfteired alearsfied RY: gfarears |
faeqwoT Sfierae T Al dd HedlNdod YA Alead ||

3T qou: TR e |
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TRTSE Ifdcar Ty EHAR JIId -
Jooiel e #AGTE: o Siafd | 3feel J PIRET IRSA FIGSCHGT
PRUMGTCAd | P 3felael &F e ofesm &ifd | @
HTAYGSCAGI HSCle] HTIINURY Wb BRHA 3cuiedid | §: duedia
THETAAT TodNUT T TR FUTT |

HHAI: $h: 3¢l qdfd | dF F: TG Fg fAaafd | 3
Aq: Hehpe, AN, O] Tellgal T TTerdid | ol Fehepe: UG P FIh
T SPRATA | GRAT: dEF 3ol aRed: @A | ge]: T8 depgdead T
q7e carfd | Srefiacl & gef ¥ dFT WG T Fed: | U H: Feaded
T8 Sloclel 3T qrerafd |

PYh: Ulcded TG Py, =ATReheldald, YIrdal gsumior o geiafa |
heeTs  sfoTele] deelithel o A 3UYSAd | Aol drd,
AReheldel G T 3UFeTd | QIohel dlesfel 3UFodd | &AleAT gouTior
¢agad Elon Hieadadeart AT T a”id | vd F¥d: FEHRIOT Hale

3T AT 3URUTT |

ohel fdaT ATG: o Shafa ?

Correct Answer :-

e

25)

P TH I+ HTHTH T3+ 36T UG
JUIHASTAA R -
 FRIEH,
| SR
HTATETHH
3.

| PRI

Correct Answer :-
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echdl
4. ©

Correct Answer :-

S ICRER
4. O

Correct Answer :-

Correct Answer :-

. GIad

~

29)
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oellehl afScar reNfATETCEd UReed YgH ] FII -

IR Sliafd shafed sga: @ q Sliafd |

FTeprsi % ol gh{f\d\ dod] {—qﬁq{t.c{\a\um\ ||

alelel Jodl fAfeRfed srear sherea A=arsfEd Ry gfeeam |
fae1woT <ffer e T Alead FedNded YA Alead ||

hleh: 3T Fdled qLAT |
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IRTee afScar T e YA I -
oo gl #Afa: o Sfiafd | 3ol J PYRET IRHAT FhISear
PROMGCUCTT | PuPh: 3T & aeared ofesd HAfd | @
ITAUGSCACT hSCle] AU Gilhld 3ERHA 3cUiedid | §: dudia
THEITAT oed VT T TG T |

AT FIh: 3¢l A | TF T TFHARGS: T Hadfd | 3eo
a: gwpgvé, QdTe, %Tir Jollgel o grerafa | v Shehehe: e T F¥eh
I SPRAM | ARAT: TEF 3col aReT: WA | 9 TFH Thgaag I
gt galfd | Seligel &1 gef ¥d: T WERET T H¥d: | TI F: Herdd
T8 Sloel 3T qrerafd |

PP: Uede] HE PGeUIGd, =ATRehelgeTd, Igal goarfor o Feafd |
heolyd  sieTelide] delithel o A 3UsAd | ATRehelthel &dM,
ATReheldel Y T 3uPsdd | YOIthel dlelel 3UFsdd | &l guuTior
daye EON Hivedadery At T 9Rid | TE HYeh: TIRRIOT Fale|

3T ST 3gRUTT |

hYh: A FA ?

Topic:- Sanskrit (SAN)

1) CANCELLED

Y [ o : o
NG JAATR-TFIE: o Faaqaera?
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Correct Answer :-

? 37T, T, e —
| T |

,, T |

| G&ITAr |

, ST |

Correct Answer :-

Q&I |

" SR R
 EERa |
| e |
- AR |
 FEANH |

Correct Answer :-

4
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I |
2.
, T
/A |
4.

Correct Answer :-

3 |

® qIUT: TR HISTRN: e ?

? g SaRE 9 S & ?
. _d |

2. l

,

, T

Correct Answer :-

U

Correct Answer :-

6
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Correct Answer :-

¢

B 1CIC X

10) ,

AT S UTH: &t ?
T

, Pag |

, T4

4. w I

Correct Answer :-

o |

T IO [AuEaT R ?

| e T T |
| e W T 4 |
, 3¢ T: JHIAE: |

. e W g4 G: |

Correct Answer :-

12) ~ o, <
A= JhiRId |7 S ATRGIFT: ke ?
(N

. A |

AR |
| < Or\l

W |
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Correct Answer :-

9 |

13

) D o~ o < -
Wqﬂl{d hld T G ?
20

1.

22
18

3.

15

4.

Correct Answer :-

22

14)

AN AN o Y [N o~
AT ST srefgad ?

[anN [@nN

ferferaqadeT

; qTISuvSa< T

Ar L~
4.

Correct Answer :-

[enN

SRR EEEAC I E-AEE

15)

QIOT-ST0TId FEGTTRIE hic STEATET: TYISw ?

10

4.

Correct Answer :-

8

16)
TRETqAT §CIE ST & ?

1. Il
, Wl
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o

eI -que-Agad: a5 Mgaey Jaxih: —

W

Feqasiate
2.

=~ o
. AdNlcHn 44

BEIREEERIERE

Correct Answer :-

ON N

SEIEINRENAC P

Correct Answer :-
AR |

19)

ATEIRMS! e [TRaH ?

Correct Answer :-

Ve |
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20) ,

THHaG:” 2l TNIGH 3¢ HIe-
| S |

o

. HTEHTEH |

, T |

Correct Answer :-

SRR, |

21) =

N =
Tl THG eI HARST: FHh:?

/R Y G A Y SR AT AR S IS FA G ?
, |

, L]

LGEY

\ TR

Correct Answer :-

| T |

) g 3id T S e ?
1. : [

o
gl |
3. :l
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o

4.§ a

Correct Answer :-

| R |

N

24) f9\|' =~ - o
T *i’edl'a-?zl' dqdd -

BIGEEIGN

1. A

2_ IS M H Y LUH

HHIITIH

4. A

Correct Answer :-

| ST |

gea |
4,
Correct Answer :-

ST |

26)

I FATADH TATH & TAT TOAshedy T 797 el -

ST
1.

Correct Answer :-
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2. . ¢ I
o
3. > ]
N O\
, ST |
Correct Answer :-

B4 |

28)

BT o TEeh-TUEAT WA B o Shd 2

L R HIER R
5 qQ'(q”lll"CT
NEE-CIREINIR]

= ~
s
4.

Correct Answer :-
qu(H“”I"J

29)

o [anN o
gD THATAHATTHIH ATA=IT dTH I%H\?

AT

Correct Answer :-

. HTAT

** |rg e o ?

| HfeRed Ra: figa: | |
| At afta: Fiegr: | |

N ‘«'ﬂ%,'{lﬁql'iﬁz ﬁq?gzﬁr: i |

Correct Answer :-

Page- 40



Hiwa{ IRA: R G |

31)

forerTaT: YeaTest add-

_wazfrqzl

4

Correct Answer :-

o
[RIEg: |
.
.

33) ,

SEX’ 3l FRAHEE |1g: &: ?
1. ﬁ I

,, A

3. g[ |

SN

Correct Answer :-

LSS

34)

HEATIT TAMETHA ALATARIAT AT Tl —
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,
TEAT

4.
Correct Answer :-

T, STENISTY | T |/
| S |

) RMGHdAH |

. CILSCEASIN

, g |

Correct Answer :-

. FIEE |

36)

‘ST SO [oEaTT R ?
| 7lies: 9 A |

, ! 7t |

| & e 54 |

7S He: & |

Correct Answer :-

i HE: |

37)

qTaeTe HQadd ST ATIa e e TANT: TATH qLE07

AT A ?

CGED

T

Correct Answer :-

-
HGED
.S
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38

 gRee Sl R ?
1. ' |
R CE Y
N
3. [
, SFEISwTG |

Correct Answer :-

e

e |

39) ,

T FoAE GG & ?
) _d + A |
, IS+ l

_GIIGI+31?{:I

3
, S+ e |

Correct Answer :-

. M + I |

40)\‘ﬁa:"r\w_-

1 AHIG: - TFdg: - Tgag: |

= =~ ha
TIdq: - YSHAYAG: - HHAG: |
2,

| FaG: - AHEG: - S |

~ ~ ~
RIdq;: - A9Hq: - |HG: |
4.
Correct Answer :-

| TIG: - TG - AHAG: |

41) ,

qeuHE:/ S THT: &t ?
5% |

<

HHII: |

2.
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42) . =\ o 5 N
TSheTe HIEh Sl T Teaeh ohel (el ?
\ 2 -~

1

) -~
2, ke

BEILEIECE DL

T H T

4.

Correct Answer :-

S IEVEEEED R

43)

ang arerl 7R ?

N . =~
S TS 7T+ |

BT =S T |

2.
BHL: fEEe: T

N~ ~
, O ST THI= |

Correct Answer :-

B [T T |

3.

Correct Answer :-

N
s |
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®) gAY AT aad?
gHverorterter:

1
e T OT
BEE CERIREIEE
EIRCIECINEIRE

3.

SRARAETEA IR

4.

Correct Answer :-

(e

N N
T ldld:

46)

o C o o < o
[hUATIA™ <hid T 9l ?
22

4. 20
Correct Answer :-

18

47)

FaGE Hicdh F: A ?
1. ]
2. 4 [
3. ; |
e |
4,
Correct Answer :-

B

48) ,

AIHH T iedl: & ?

TR |
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Correct Answer :-

[N o\

| SR |

49) Q:WE\: m _

1 TSR, |

2. ' |
ST |

3.

, TERIE |

Correct Answer :-

 ATGAMTIEH |

50) -

feraeTvas 9q E=maT: Jedieed aad?

o [anN
, Allzdenldaanld:

Correct Answer :-

o [ e\
R LIASE B E R
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, TI: - AR TR - TG |

Correct Answer :-

. qres: |

4.31F§ZTFFI|

Correct Answer :-
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SUYGEHMN: |
4,

Correct Answer :-

TR |

4.I :

59) , o
oYl

S’ el /HE: R Agh: ?
¢~
1. : |

2. E l
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¢

g |
QA ﬂ ~ |
4,

Correct Answer :-

4. 10

Correct Answer :-

10
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